10

5%x10°

BIC

2x10°

10

=50

log[ Relative Probability ]
—100

—-150

10

Window Half—Width (km/s)
1000

rm150 2/(410045 504-6) 0.919
T | T | T | |
i BIC 437318 47 ABIC O. OOO AlogP 0.0000 ]
- : x 372103.84 Ax 0.000 AlogP 0.0000 -
= o A e o _ _ _]8BIC
e e s e ettt e
. . X
| ABIC —86725 709.7 :( i
A —86725 —453.5
4956 4956 5046
A , ACs , ACSF
L | L | L | L | L | L |
20 40 60 80 100 120
120 iterations
rm150 2/(410045 —5046)=0. 919
E T T T T T |
F BIC 437318 47 ABIC O. OOO AlogP 0.0000 -
L . ” 2 i
oo I
_ | |
Z | |
5046 1
- S-St -t - =" AEEF """ - -~
I - 1 \ 1 \ i
60 80 100 120
120 iterations
Fe2 9% 232+202 km/s
rm150 BLR 3930 NLR 900 km/s
F ' T T T ' T ' T T 7
' : 1 BLR
—EELESEE S s =2 e T 1B
: L3
i 1 Fell
120

120 iterations

kdh1 12-0ct-2021 12:30



